
10 GRADED ARITHMETIC.

«. How many liters in a bmhd of wheat ?

and 12 ftl^^^r"^'"^ *'"•«'• '»»8. 1« ft- 9 i^ wideand^l2 ft. 8 u,. h,gh, how n«ny cnbie feet of .pace to eal„f '^

2« lb ?*?M
t7'' """' ''" ** "•• °' ''°" «»" " lb.

? 22 m?

p™eoftheh„adi.the"i:.rer::.T^«:i?:[r°'""

w^hu'eoTirntu^r*'^-""^'"^^-^^*'"- ^''

tiiirtT^^rt^^i^rzir.i^rto'"" "^^'""
did he «,U, and how much«m^T ""• '*'* '°™- H"" ™'"'
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13. Owning f of a factory, Mr. Brown HnM x «* ».• v
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Icf d,/H ' '•'""/ " * '' * y^*^ *^^* -*« damaged Howmuch did he receive for the whole piece?


